
Operations on Real Numbers Worksheet Answer Key

Real Doctors Not Required

Evaluate.

1. 1.42 + (−4)

−2.58

2. 3
8 − 9

16

6
16 − 9

16 = − 7
16

3. 2.96− 1.46

1.50

4. 31
4
− 41

3

13
4 − 13

3 = 39
12 − 48

12
= −13

12 = −1 1
12

5. 13
45 + 4

9 − 1
3

13
45 + 20

45 − 15
45

= 33
45 − 15

45 = 18
45 = 2

5

6. (4)(−3)(1.2)

(−12)(1.2) = −14.4

7. 4
5 ÷ 3

4

4
5 × 4

3 = 16
20

8. 2.6× 1.3÷ 4

3.38÷ 4 = 0.845

9. 21
3
× 1.2

7
3 × 12

10
= 14

5 = 24
5
= 2.8

10.
9
5
1.6

9
5 × 10

16 = 9
8 = 11

8
= 1.125
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